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- ’, v | Horizontal underground stems with scale ;
| uckers Rhizomes | Corms Bulbs  {eaves are called: N
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| Partheno- |, 2 fe o ddi In prokaryotes asexual reproduction oceurs |
| genesis Fragmentation Binary fission| Budding |ihrough: . :
; i g - 5 » i
8 6 4 2 e I PSULAE S J:&{ 3
& : ! I The number of bones in pelvic girdle is: .
: | " 5 ” § 4 |
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R Neuron Cell body Nephrow Nerve__ The unit of nervous systeim is: B —
e Ve i . ‘ . e . i
S ey Nalhd S WaE A o J;{,;‘VL‘J”{ME 5 !
| Mesophytes : Hydrophytes - Halophytes | Xeropuytes | These plants have succulent organs: 1.
] e - i 3
o . L | dv:_ub WL L e ...::,w:g,'.'. PEES, 6
Brain t Alveoli Trachea |  Lungs~ ARespiratory center is located in: ; |
i T - = — 1 !
o | LV Y B R
Cannabis ' O—' _ | . Digitahis is obtained from the leavesof _____ 7 i
annabis | pitn Foxglove | Detra  iplant. ; k
i : e ; t
e K8 o il s L gedi ?c.v&:‘f S e 8 |
é Urokinase i N Beta- . Interferons Thymosin Which one isa p’diﬂ Killer chemical? ; ;
| ;. _endorphin s - | o
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ot g deyo e —_— g -
| vkt Al C‘rommcn i {7e% "I'he relationship between :g.?lkf'?ffu'n‘lww“i 9
t Competition | Parasitism b Centiem ) Mutualism [two different species in which both get ‘ 1
. ? ’ - (benefits but neither is harmed, is called: |
. = : ,
‘ ; ; oy : 5 . P e el amiav sl Pl gtaias
L}-)’hl‘r ' OJIL? i L“-""“r’ . o‘))b’:?" : u—'-'v'.'fb‘,lb u_—u“". JE’."J:‘ J) oot dae ‘ 10
i Morphol b Physi ‘The study of inter relationship between !
iMorphology | Physiology | Ecology Mycology [organisms and their environment is called: )
! 1 T T i
! f :a.:l,u’\,(iﬁltgf' »fg’\u“\.-'.u’:d:ifmu'f ;’GV!
' % - !
4 3 2 ‘ The number of hydrogen bonds between L
b X i
cvtosine and guaning 1s: : |
s 4 st s < " ’..”y “
! ! T Lt it G L RNA
i, ! e f-'/CJ » g y ! . ;
V] o B g = . 3 Gor®
CoOETE L gL JeI U™ 1/ IThe step of joining specific a3eiE o) o12
, Duplication ’ Replication | Transcription Translation 'amino acids according to the sequence carricd |
! | i ‘in the mRNA is called: j
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(Part -1

Write short answers to any FIVE parts,
What do you know about structure and functions of alveoli?
How inhalation is difTerent from exhalation?

What arc allergens? Give two examples.

Write any two adaptations in hydrophytes.

What do you knew about renal pelvis and hilus?

What are Schwunp cells and myelin sheath?

Define nerve.

Give two functions of frontal lobe of cerchrum,

Write short answers/to any FIVE parts,

Define skeleton.

What are immovable joints? Giveran example,
Differentiate tie sexual and asexunl reproduction,

What is grafiing? How it is carried owl?

Define inheritance.

What are genes? Where these are located?

Define Law of Independent Assortinent.

What is co-donunanee?

Write short answers to any FIVE parts,

Why tlow of materials happen from producers to consumers?
What do you know abont atmospheric nitrogen fixation?
How epiphytes show commensalism?

What is greenhouse elfeet?

Give two advantages of using fermenters.

Define vector and give an example.

Write two effects of marijuana on human body.

What are broad-spectrum antibiotics?
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Part - I, Attempt any TWO questions. Each question carries 09 marks.

S f\}b“

What ave the characteristics which enable hdlophytas (o live in sea water?

-ct‘;.//\.w’/ "wdb ()
.a.t‘ﬁ)lJlJ/rHU:JbuJ: JU /b’i/b/(IZ,/"erJbul ) .6

How does adrenaline play its role in exercisc and emergency situations?

Write a note on human skeleton.

tri bt 44,;§¢,¢.,..)J4 Ve

What is tissue culture? How new plants regenerated by using this technique?
Yo e §ebig S () 7
Lo MLIHEE ()
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What is importance of single cell protein?

Describe the mode of action of vaccines.
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’/‘ " N Connection established between embryo and L
Horns Cervix Placenta Follicle uterus wall is called: i I
e iV ¢ 7 - !
0. r-l sz uj:f‘ r‘:’:db' L'\lerf/..‘”l/:.‘ b/d)".f 2 !
Corolla Androecium!  Calyx Gynoecium | Third whorl of flower is called: L
O - ! " | % ¢ P !
\//u:'r”‘:l ml}Ji:b’kLg_’J (.‘.«;bf)u‘f'f i u’xl/,’:ﬂé’}' ; . ‘04"0"7‘5‘&36‘0}-’ -':—JJC/-”J&&’/‘{’ % ‘
o Rheumatoid L . |Deficiency of estrogen hormone can cause the .
( steoporosis! " Jy Gont ;Ostco-arthrms disease of* .
., ! N ¢ (S A T adass e
| Fpw | ot | A wrsdis et S a S i o )
T . e _ Which one decreases the calcium ions \
Vasopressin| Oxytocin | Calcitonin | Parathormone |ooncentration in blood? o i
| Ly = JJ'/:g) L‘)'i ; .....Jhw.u 2 Jl"“’td‘”dbi\‘( ")‘ “‘F”’ 5 !
- 2 ” - Which one is reabsorbed in descending limbof | ¥
Urea . Salts Glucose Water loop of Henle? B
Aol | AT ai T . 2 s eI T S e LT TS s guf\ i
I Carbon Carbon T & 'Whu,h gas reduces the oxygen carrying A
|  dioxide morioxide | Ammonia | Nitrogen capacity of hcmoglobm" : |
: L S, ~£ (o s 3 1 )
| .t.'/:L 0 \—«67 Jal ) A “""J 'JbA J e J?A,; a |
] : ; Hepatiti x] ARE . l:.d\\ard Jewter introduced vaceine for which !1
| Malaria cpatitis bmdl§ ';*' 52"‘ AlDﬁ‘ £ &*’é 1507 . i
F At ot S ‘ el e gl E § |
' Formic acid | Glycerol Ethanol  Acrylic acid | 1 wd““-‘ used in pr ““‘“E is! ‘ s
A | frE sl T AL S F G s ‘ 0
4 3 < i I How many tones recycling of paper can save ‘ Y
| 17 trees? j
| ? P A
i ug»% f"/L‘;":‘ (I ok u"f : c..wuv gy UV »....Uau'u ahadisg (% 1
| predati . e Termites and | protozoan have which symbmm :
| Predation | Mutualism | Parasitism ,Commensalism|relationship? i N
‘ i ? ‘ﬁf A;\}/"’v v, wc.RR\'Y '?f’b‘”@:u\)f/‘t
rrYy i rryy I RrYY RRYy : ﬁ round yellow sced have ‘?J w1
! j genotype RRY'Y, then a true breeding wrinkled
: green seed have which genotype?
Bqi7Y Sy LA W Semude LU e EDNA) i o
Adenine Uracil Cytosine | Thvamine .Im DNA nucleotide guanine forms pair with:
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Part-1 :  Jie)
10 Write shovt auswers FIVE parts. iz /ﬁéyl:i:l&gc_ﬁ f o
Write names of allergens which cause asthma, .vaér_.,_w{..,,eér-w\)» Fol (W)
: ?..:_Cf:xu[u..},,%gié.é.uﬁ.'/{,..:(y-m-c (i)
Why spring season may prove more irritating for asthima patients?
Deline double pneumonin, LEEun Jde s Gid
Differentinte osmoregulation and thermoregulation, < C’ uC;)u’ﬂ Ea ),,ta’—" £y (iv)
What is dialysis? Write names of its types, .é.(“.’:,fw\; M8t e (V)
Write munes and functions of any two lobes of cercbrum, i .;/'? NaPig] T2 3 Sf.f tes V)
Why vitamin-A is important for our cye? ....dnﬂwfi\~ S L FiSa Gib)
What is mixed nerve? Define, Ay ,,.Jm; 2K i
10 Write short answers to any FIVE parts. ..e!.;,gm/':" &.:z:égc_éf
Write the rale of tendons and liganents, “JJath‘”hﬁ4:iiki (i)
Write two disorders of human skeletal systent, Sl Jr o3I E sl (i)
How does repraduction contribute to the continuity of species? ‘._J"u u':.uu\fu é:f:&cﬁ e ti
‘._‘,. \‘b._.v-JJ Ly Spam —»:;"\; “ Liv)
How does binary tissionAverk in bacteria and unicellular cukaryotes?
What are traits? Write twortrgits of human, A snloa vz ..:‘.,.,;-j ()
Detine gene. Write symbols of géne for any one trait, _3.‘{.:&(&& md Lae SNt (vi)
What is variation? Give two sources of variations. LI JEO) f\,umb SR \.—' L& (sil)
What is meant by breeds and cultivirs? Tt Iy IR o ,r,,.,'(\ i)
10 Write short answers to any FIVE patts ..guu.r./yiri]}éﬂc_dj <
Define ussimilation. BEAT IR RO

3
J

3 ™
bttt Flnt i o Gokey 20 4 S e G
How intra-specific competition is more stronger than {nter-gpecitic competition?

What are cftects of glabal warming? LR R T AT T
How predation helps in maintaining ecological balanee? o IRPREISP) PROTHE DT RO M he LiV)
What are thymosin and beta-endarphin? PR .;"u.».‘;h::.u\;’!‘/ v (y)
What is use of fermentation in dairy products? 7L U et b sl 'v‘luyia.;d.;j (vi)
How worphine can be obtained? Ya :y\}'vwk—; FoA NG
What are analgesics? Give two examples. NN R FUET i

-wﬁ" 09 [,Ju'/;-s}-{/_faglmﬁamr.-::..éf«f».ﬁ
Part - II, Attempt any TWO questions, Each question carries 09 marks.
04 ..‘_ub:f "\ﬂﬁfJ-dzr’d/u..c..sf () 25

Describe the process of seleetive re-ubsorption in Kidney.

05 ..g;’{wu,\fuw’ﬁ.fl_f.w&uu S‘.?,g)’.jw (<)
What is skeleton? Also describe the components of human skeleton.
04 .-g.,"'":Uku;" /!(Functional)&;bi.m(Vascular))ﬁ,f.f"’us) () 26

Deseribe the vascular and functional disorders of nervous system.

05 -g;,{uy.&bg;("lrﬂ’iw;dzéffjf';.u u(rIJ’LIS Lol
Describe the structure of male reproductive system of rabbit with the help of diagram,
. . . o . %4 #, b
04 Write a note on single cell protein. .Yy _*,y,;dls,;d.’ g ) W

05 -é(d%'ﬁ:/lb'/:b‘(!z.’.)&rKAi:.‘Lar";ébf(Jag»l (i)
Classify the drugs on the basis of their chemical properties and mode of action.
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